PLC a SIMATIC 3a - RieSenia a programy :)
FC101

Block: FC101 as Ladder diagram

Network: 1
I0.0 Q8.5
"packaOh" "pag>>"
|| " |
1 ' 1
Network: 2
I0.1 0B.6
"packalh” "pas<<"
| L 7Y |
11 A |
FC101
Block: FC101 as STL
Network: 1
A "packaOh"™ I0.0
= "pas>>" Q8.5
Network: 2
A "packalh" 1I0.1
= "pas<<" 08.6
FC101
Block: FC101 as FBD
Network: 1
Q8.5
& "pas>>"
10.0 =
"packaQh" —j
Network: 2
Q8.6
& "pas<<"
I0.1 =
"packalh”™ —
FC102
Block: FC102 as Ladder diagram
Network: 1
"packaOh" "pas>>"
1 1 £y |
[ s |
Q4.0
"ledOh"
Yy |
|
Network: 2
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I10.1 0B.6
"packalh" "pas<<"

| ¢ |
[ 1

A

Q4.1
"ledlh"
() |

FC102

Block: FC102 as STL
Network: 1
"packaCh™ I0.0

"pas>>" Q8.5
"ledOh" Q4.0

[

Network: 2

"packalh® 10.1
"pas<<" Q8.6
"ledlh" Q4.1

i

FC102

Block: FC102 as FBD

Network: 1
8.5
& "pas>>"
"ﬁacka@h"
Q4.0
"ledOh"
Network: 2
QB.86
& "pas<<”
10.1 =
"packalh" —
Q4.1
"ledlh"
FC103
Block: FC103 as Ladder diagram
Network: 1
I0.0 I0.1 Q8.5
"packaOh" "packalh"” "pas>>"
| | | L ' |
1 [ s 1
Q4.0
"ledOh"
N |
|
Network: 2
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T2 Q8.6
"packazh" "pas<<”
1 | ' |
‘ 1T NS |
FC103
Block: FC103 as STL
Network: 1
A "packalh"
a "packalh"
= "pas>>"
= "ledOh"
Network: 2
A *packazZh"
= "pas<<"
FC103
Block: FC103 as FBD
Network: 1
_ &
"péékaﬂh" 08.5
"pas>>"
"pégkélh"
"ledOh"
Network: 2
Q8.6
& "pas<<!l
10.2 =
"packaZ2h" —
FC104
Block: FC104 as Ladder diagram
Network: 1
"packaon” "pas>"
| | ' |
[ s 1
10.1 Q4.0
"packalh" "ledOh"
| | 7N |
LI A |
Network: 2
10.2 Q8.6
"packazh" "pas<<"
| 1 ' |
[ NS |
10.3 Q4.1
"packa3h" "ledlh"
| S

FC104
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Block: FC104 as STL
Network: 1

"packaOh"
"packalh”
"pas>>"
"ledOnh"

r oo

Network: 2

"packazh™
"packa3h"
"pas<<"
"ledlh"

nmnoo

FC104
Block: FC104 as FBD

I0.0
10.1
08.5
Q4.0

I0.2
I0.3
Q8.6
o4.1

Network: 1
>=1
10.0
"packaOh" — g8.5
"pas>>"
npackalh" —
Q;:': .0
"led0Oh"
Network: 2
>=1
10.2
"packaZh" — Q8.6
"pas<<"
I 3 =
"packa3h" —
04.1
"ledlh"
FC105
Block: FC105 as Ladder diagram
Network: 1
I18.5
"induksenz Q8.5
orl" "pas>>"
N (s>—
Q8.6
"pas<<”
(R) |
08.1
"rozsvieth
lll
) |
Q8.4
"rozsvieth
4"
(RY |
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Network: 2

I8.0
"optozavor Q8.6
a” "pas<<”
A (s>—
08.5
"pas>>"
(R) |
Q8.4
"rozsvieth
4'!
(s |
“rozsfiéth
1“
(R |
FC105
Block: FC105 as STL
Network: 1
B "induksenzorl" I8.5
s "pag>>" Q8.5
R "pas<<" Q8.6
S "rozsviethl"” Q8.1
R "rozsvieth4"” Q8.4
Network: 2
AN "optozavora™"™ I8.0
S "pas<<" Q8.6
R "pas>>" Q8.5
s "rozsviethd" (8.4
R "rozsviethl" Q8.1
FC105
Block: FC105 as FBD
Network: 1
3.5 * "pas>>"
"induksenz ] s
orl™ —
"?éé(é"
R
"ro%é?ieth
1“
5]
Q8.
"rozsvieth
4"
R
Network: 2
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18.0

"optozavor

a" —

FC106

Block: FC106 as Ladder diagram

Network: 1

18 L
"induksenz
orl"”
| L

Q8.6

_"pas<<”
S

QB.5
"pas>>"
R

28.4
"rozsvieth
4"

s

Q8.1
"rozsvieth
1"

R

QB.5
"pas>>"
¢s)d |

Q8.6
"pas<<"
(R |

Q8.1
"rozsvieth
1'"

{8 |

08.4
"rozsvieth
4"

Network: 2

8.0
"optozavor
a"

(Ry—]

Q8.6
"pas<<"

11

(g% I

08.5
"pas>>"

/R\ I
08.4
"rozsvieth
4"

/S\ |

08.1
"rozsvieth
l!l

Network: 3

(’R\ {
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I8.0

"pocitadlo

FC106

"optozavor i
a" s_CU
V1 U Q
—S
—PV Ccv
10.0 CV_BCD
"packalOh" —R

Block: FC106 as STL

Network: 1

ot

Network: 2

W m %

Network: 3

AN
cu
BLD
NOP
NOP

FC106

"induksenzorl"

I!pa5>> mw
"pas<<"
"rozsviethl®
"rozsvieth4"

"optozavora”
"pas<<"
"pag>>"
"rozavieth4a"
"rozsviethl"

"optozavora”
"pocitadlel"
101

0

0

"packalOh"
"pocitadlol"”
"pocitadlol"®

MRS
MW20

"pocet

18
Q8
Q8
08
Q8

8.0
0B.6
0B.5
08.4
08.1

"pocet opakovani"

0
0

Block: FC106 as FBD

Network: 1

"induksenz
orl”

— opakovani™

.5
-9
.6
.1
.4

I8.0
Cl

4

"pag>>"
=]

L \..aslé<lv
i R

| I

"rozsvieth
1"’
5

e —

"rozsvieth
4"
R
|

1
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Network: 2

& Q8.6
I8.0 "pas<<"
"optozavor ]
Q8.5
"pas>>"
]
Q8.4
"rozsvieth
4"
5
|
Q8.1
"rozsvieth
1"
R
Network: 3
Cl
"pocitadlo
1"
S _CU
I8.0
"optozavor
aﬂ _CCU
MW20
—S "pocet
CV —opakovani"
—FV
CV_BCD |-
10.0
"packaOh" —R Qr
FC107
Block: FC107 as Ladder diagram
Network: 1
T8.5
"induksenz Q8.5
orl"” "pas>>"
| (8>—
Q8.6
“pas<<"
(R) |
Q8.1
"rozsvieth
1"
/S A I
Qa _ill
"rozsvieth
4“
(R) I
Network: 2
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I18.0
"optozavor QB.6
a" "pas<<"
/] (8)>—
“ﬁas>>“
(R)>—
"rozsvieth
4"
/S)__..i
Q8.1
"rozsvieth
1"
(R)>—
Network: 3
8.0 "pocitadlo
"optozavor Ry
a" S Cu
1 u - Q
—13 MWZ20
"pocet_
—pv CV - opakovani"
10.0 CV_BCD -
"packaOh" —R

Network: 4
L "pocet opakovani" MWZ0
L
=1
R "pag>>" 08.5
R "pas>>" Q8.5
FC107

Block: FC107 as STL
Network: 1

A "induksenzorl™ 1I8.5
5 "pas>>" Q8.5
R "pas<<” Q8.6
3 "rozsviethl" 08.1
R "rozsvieth4" Q8.4
Network: 2
AN "optozavora®™ IB.0
3 "pas<<" 08.6
R "pas>>" Q8.5
s "rozsviethd" Q8.4
R "rozsviethl™ Q8.1

Network: 3
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NOP
NOP

Network: 4

I &

w

FC107

"optozavora"

"pocitadlol”
101

0

0

"packaOh"
"pocitadlol™
"pocitadlol™

"pocet_opakovani"”

0
0

"pocet_opakovani”

"pas>>"
"pas>>"

Block: FC107 as FBD

Network: 1
&
I8.5
"induksenz
orl" —
Network: 2

"optozavor

Network: 3

a

"

18.0
Cl

10.0
c1
Cl
MW20

MW20

0B.5

OR_5

"pas>>"

~
Q8.6

"pas<<"

Q3.1
"rozsvieth
l"

i

Q8.4

"rozsvieth
4“

"pas<<”

]
4

I;

"pas>>"
R

"rozsvieth
4I'I
S

"rozsvieth
1"

]

|
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"pocitadlo

l"
5 CU
18.0
"optozavor
a" —gcu
MW20
—s "pocet_
CV |- opakowvani”
—PV
CV_BCD
"pac-kaOh" —R Qr
Network: 4
L "pocet opakovani" MW20
L 5
==T
R "pas>>" Q8.5
R "pag>>" 08.5

FC108

Block: FC108 as Ladder diagram
Network: 1

I8.5
"induksenz
orl”
|l

0B8.5
"pas>>"

/S> i

o8 < &
"pas<<"

/R>__|
Q8.1
"rozavieth
1Il
(s) |

0B.4
"rozsvieth
4“

Network: 2

18.0
"optozavor
a!l

/R\ |

Q8.6
"pas<<"

1

/8\ I

Q8.5

-1
"pas>>"

/R\ I
Q8.4

"rozsvieth
4"

(s)—]

08.1
"rozsvieth
1"

Network: 3

(R ]I
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I8.0

"pocifﬁdlo

"optdzavor "
a" S CU
1 cu Q
- MW20
"pocet
—pv CV —opakovani”
“pﬁgkaﬂh"—R "aktﬁélhy_
CV BCD - pocet™
Network: 4
L "pocet_opakevani" MWZ20
L 5
==T
R "pas>>" QB.5
R "pas>>" Q8.5

FC108

Block: FC108 as STL

Network: 1

o

Network: 2

R R E

Network: 3

LC
T
NOP

Network: 4
L
L
==]
R
R

FC108

*induksenzorl" I8.

"pas>>"
"pag<<”
"rozsviethl"
"rozsviethd"

"optozavora™
ﬂpas<< "
"pas>>"
"rozsvieth4"”
"rozsviethl"”

"optozavora"
"pocitadlol"
101

0

0

"packaOh"
"pocitadlol"”
"pocitadlol"”

0
3]
= oy L n

18.0
Q8.6
Q8.5
Q8.4
Q8.1

I8.0
C1

I10.0
Cl
Cl

"pocet_opakovani" MW20

"pocitadlol"

"aktualny pocet” QW6
0

"pocet_opakovani” MW20

5

"pas>>"
"pag>>"

Block: FC108 as FBD

Network: 1

Q8.5
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Network: 4

'JU'JU"I_"I_"
H

Q8.5
"pas>>"

Q8.6
"pas<<"
R

Q8.1
"rozsvieth
1!1

3

._'25)’ |
"rozsvieth
4"

R

Q8.6
"pas<<"

&
I8.5
"induksenz
orl"™ —
Network: 2
&
"optbzavor
a!l _(3
Network: 3
cl
"pocitadlo
l "
[ 5 Cu
18.0
"optozavor
a" —=Qcu
CViE
—S
—FV
CV_BCD
10.0
"packalOh" —R Q-

"pas>>"
"pas>>"

fat*] =
8.5
191 B

"has>>"
]

08.4
"rozsvieth

4!!

L °

Q8.1
"rozsvieth
1"

R

MW20
"pocet_
opakovani”

QW6
"aktualny_
pocet”

"pocet_opakovani™ MWZ20
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